
     present simple of to be

negative statements

Verbformen-------

Fill in the gaps with a correct form of the verb to be + not

1. They _______________  # You _______________  (sg) are not
;

are not

2. I _______________  # He _______________  am not
;

is not

3. It _______________  # You _______________  (pl) is not
;

are not

4. He _______________  # We _______________  is not
;

are not

5. It _______________  # They _______________  is not
;

are not

6. We _______________  # They _______________  are not
;

are not

7. He _______________  # It _______________  is not
;

is not

8. I _______________  # You _______________  (sg) am not
;

are not

9. You _______________  (pl) # I _______________  are not
;

am not

10. I _______________  # It _______________  am not
;

is not

11. We _______________  # I _______________  are not
;

am not

12. You _______________  (sg) # It _______________  are not
;

is not

13. They _______________  # He _______________  are not
;

is not

14. He _______________  # You _______________  (pl) is not
;

are not

15. It _______________  # We _______________  is not
;

are not

16. She _______________  # It _______________  is not
;

is not

17. We _______________  # You _______________  (pl) are not
;

are not

18. You _______________  (pl) # You _______________  (sg) are not
;

are not

19. You _______________  (sg) # He _______________  are not
;

is not

20. I _______________  # She _______________  am not
;

is not

21. You _______________  (sg) # We _______________  are not
;

are not

22. She _______________  # You _______________  (pl) is not
;

are not

23. He _______________  # She _______________  is not
;

is not

24. You _______________  (pl) # They _______________  are not
;

are not

25. They _______________  # I _______________  are not
;

am not

26. She _______________  # We _______________  is not
;

are not
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